ISSN: 1017-060X (Print)



ISSN: 1735-8515 (Online)

Bulletin of the

Iranian Mathematical Society

Vol. 42 (2016), No. 5, pp. 1087-1096

Title:

On the bounds in Poisson approximation for independent geometric distributed random variables

Author(s):

T. L. Hung and L. T. Giang

Published by Iranian Mathematical Society http://bims.ims.ir

Bull. Iranian Math. Soc. Vol. 42 (2016), No. 5, pp. 1087–1096 Online ISSN: 1735-8515

ON THE BOUNDS IN POISSON APPROXIMATION FOR INDEPENDENT GEOMETRIC DISTRIBUTED RANDOM VARIABLES

T. L. HUNG* AND L. T. GIANG

(Communicated by Hamid Pezeshk)

ABSTRACT. The main purpose of this note is to establish some bounds in Poisson approximation for row-wise arrays of independent geometric distributed random variables using the operator method. Some results related to random sums of independent geometric distributed random variables are also investigated.

Keywords: Poisson approximation, linear operator, geometric random variable, random sums.

MSC(2010): Primary: 60G50; Secondary: 41A17, 41A36.

1. Introduction

Let $(X_{n,j}, j = 1, 2, \dots, n; n = 1, 2, \dots)$ be a row-wise triangular array of independent geometric distributed random variables with success probabilities $P(X_{n,j} = k) = p_{n,j}(1 - p_{n,j})^k, 0 < p_{n,j} < 1; k = 0, 1, 2, \dots; j = 1, 2, \dots, n; n = 1, 2, \dots$. Let us denote by S_n the number of failures before the nth success in a sequence of independent Bernoulli trials. Then, $S_n = X_{n,1} + X_{n,2} + \cdots + X_{n,n}$. Write $\lambda_n = E(S_n) = \sum_{j=1}^n (1 - p_{n,j}) p_{n,j}^{-1}$ and suppose that $\lim_{n \to \infty} \lambda_n = \lambda$, (0 < 1) $\lambda < +\infty$). We denote by Z_{λ_n} the Poisson random variables with means λ_n .

Up to the present the Poisson approximation for many discrete distributions (notably the Poisson-binomial distribution) has received extensive attention in the literature and many different approaches have been proposed. (see [1, 2,]3, 5, 6, 7, 10, 11, 15, 14] for more details). The problem will be considered in this paper are similar to those encountered in [8]. Actually, based on a linear operator due to A. Renyi in [13], some bounds in Poisson approximation

©2016 Iranian Mathematical Society

Article electronically published on October 31, 2016.

Received: 25 December 2014, Accepted: 29 June 2015.

^{*}Corresponding author.

for non-random sums and random sums of independent geometric distributed random variables are established.

Let \mathbb{K} denote the class of all real-valued bounded functions f on the set of all non-negative integers $Z_+ = \{0, 1, 2, \cdots\}$. The norm of a function $f \in \mathbb{K}$ is defined by $||f|| = \sup_{x \in Z_+} |f(x)|$. The Renyi operator associated with random variable X, denoted by A_X , is given by

(1.1)
$$A_X f(x) = E\left(f(X+x)\right) = \sum_{k=0}^{\infty} f(x+k)P(X=k), \forall f \in \mathbb{K}, \forall x \in Z_+.$$

(Recall the definition in [13]). It is to be noticed that the linear operator defined in (1.1) is actually a discrete form of the Trotter's operator (see [20] for more details).

Let A_{S_n} and $A_{Z_{\lambda_n}}$, denote the Renyi's operators associated with S_n and Z_{λ_n} , respectively. The main purpose of this note is to establish the upper bounds for $|| A_{S_n}f - A_{Z_{\lambda_n}}f ||$ in Poisson approximation for independent geometric distributed random variables. Some bounds related to $|| A_{S_n}f - A_{Z_{\lambda_n}}f ||$ in Poisson approximation for random sums of independent geometric distributed random variables are also investigated, with $N_n, n = 1, 2, \cdots$ are positive integer-valued random variables independent of all $X_{n,1}, X_{n,2}, \cdots; n = 1, 2, \cdots$. The results in this paper are extensions of published results in [10], [15, 16, 17, 18, 19, 11, 9]. The present paper is also a continuation of earlier results in [8].

It is to be noticed that in recent years, based on the Stein-Chen method there are many papers related to bounds in Poisson approximation for independent geometric distributed random variables (we refer the reader to [2, 5, 6, 10, 1, 12, 14, 16, 17, 18, 19], and references therein). However, the linear operator used in this paper is very elementary and elegant. The basic idea is very simple and based on elementary properties of a linear operator introduced by Renyi ([13], 1970). The results in this note present a new approach to the Poisson approximation problems for the discrete independent random variables.

2. Preliminaries

In the sequel we shall need some properties of Renyi's operator in (1.1). We recall some definitions and notations (see [13] for more details). Let us denote by A_X and A_Y two Renyi's operators associated with two discrete random variables X and Y. Moreover, let α, β be two real numbers and $f, g \in \mathbb{K}$. Then, it is easily seen that

(1)
$$A_X(\alpha f + \beta g) = \alpha A_X(f) + \beta A_X(g).$$

- (2) $|| A_X(f) || \leq || f ||$.
- (3) $|| A_X(f) + A_Y(f) || \leq || A_X(f) || + || A_Y(f) ||$.
- (4) $|| A_X A_Y(f) || \leq || A_Y(f) ||$.

Hung and Giang

(5) Suppose that $A_{X_1}, A_{X_2}, \dots, A_{X_n}$ are operators associated with the independent random variables X_1, X_2, \dots, X_n . Then, for $f \in \mathbb{K}$,

$$A_{X_1+X_2+\dots+X_n}(f) = A_{X_1}A_{X_2}\dots A_{X_n}(f).$$

(6) Suppose that $A_{X_1}, A_{X_2}, \dots, A_{X_n}$ and $A_{Y_1}, A_{Y_2}, \dots, A_{Y_n}$ are operators associated with independent random variables X_1, X_2, \dots, X_n and Y_1, Y_2, \dots, Y_n , respectively. Moreover, assume that all random variables X_1, X_2, \dots, X_n and Y_1, Y_2, \dots, Y_n are independent. Then, for $f \in \mathbb{K}$,

(2.1)
$$\| A_{\sum_{k=1}^{n} X_{k}}(f) - A_{\sum_{k=1}^{n} Y_{k}}(f) \| \leq \sum_{k=1}^{n} \| A_{X_{k}}(f) - A_{Y_{k}}(f) \|.$$

Clearly

$$A_{X_1}A_{X_2}\cdots A_{X_n} - A_{Y_1}A_{Y_2}\cdots A_{Y_n}$$

= $\sum_{k=1}^n A_{X_1}A_{X_2}\cdots A_{X_{k-1}}(A_{X_k} - A_{Y_k})A_{Y_{k+1}}\cdots A_{Y_n}.$

Accordingly

$$\| A_{\sum_{k=1}^{n} X_{k}}(f) - A_{\sum_{k=1}^{n} Y_{k}}(f) \|$$

$$\leq \sum_{k=1}^{n} \| A_{X_{1}} \cdots A_{X_{k-1}}(A_{X_{k}} - A_{Y_{k}})A_{Y_{k+1}} \cdots A_{Y_{n}}(f) \|$$

$$\leq \sum_{k=1}^{n} \| A_{Y_{k+1}} \cdots A_{Y_{n}}(A_{X_{k}} - A_{Y_{k}})(f) \|$$

$$\leq \sum_{k=1}^{n} \| A_{X_{k}}(f) - A_{Y_{k}}(f) \|.$$

- (7) $|| A_X^n(f) A_Y^n(f) || \le n || A_X(f) A_Y(f) ||$.
- (8) Suppose that X_1, X_2, \dots, X_n and Y_1, Y_2, \dots, Y_n are independent random variables (in each group), and let $N_n, n = 1, 2, \dots$ be a sequence of positive integer-valued random variables independent of all X_k and $Y_k, k = 1, 2, \dots$ Then, for $f \in K$,

(2.2)
$$\|A_{\sum_{j=1}^{N_n} X_k}(f) - A_{\sum_{k=1}^{N_n} Y_k}(f)\| \leqslant \sum_{n=1}^{\infty} P(N_n = n) \sum_{j=1}^n \|A_{X_k}(f) - A_{Y_k}(f)\|.$$

Lemma 2.1. The equation $A_X f(x) = A_Y f(x)$ for $f \in \mathbb{K}, x \in \mathbb{Z}_+$, provides that X and Y are identically distributed random variables.

Let A_{X_1}, A_{X_2}, \cdots be a sequence of Renyi's operators associated with the independent discrete random variables X_1, X_2, \cdots , and assume that A_X is a

Renyi's operator associated with the discrete random variable X. The following lemma states one of the most important properties of the Renvi's operator

Lemma 2.2. A sufficient condition for a sequence of random variables X_1, X_2, \cdots converging in distribution to a random variable X is that

$$\lim_{n \to \infty} \|A_{X_n}(f) - A_X(f)\| = 0, \quad for \quad f \in \mathbb{K}.$$

Proof. Since $\lim_{n \to \infty} ||A_{X_n}(f) - A_X(f)|| = 0$, for $f \in \mathbb{K}$, we conclude that

$$\lim_{n \to \infty} \left| \sum_{k=0}^{\infty} f(x+k) \left(P(X_n = k) - P(X = k) \right) \right| = 0,$$

for $f \in \mathbb{K}$ and for $x \in \mathbb{Z}_+$.

Taking

$$f(x) = \begin{cases} 1, & \text{if } \quad 0 \leq x \leq t \\ 0, & \text{if } \quad x > t, \end{cases}$$

we obtain

$$\lim_{n \to \infty} \left| \sum_{k=0}^{t} \left(P(X_n = k) - P(X = k) \right) \right| = 0.$$

It follows that, $P(X_n \leq t) - P(X \leq t) \to 0$ as $n \to +\infty$. We infer that $X_n \xrightarrow{d} X$ as $n \to +\infty$, here and from now, $\stackrel{d}{\to}$ denotes the convergence in distribution. This finishes the proof. \square

3. Results

In this section, based on Renyi's operator-method the theorems 3.1, 3.3, 3.5 and 3.7 are devoted to the discussions on bounds (in term of inequalities (3.1) (3.2) (3.3) and (3.4) in Poisson approximation for independent geometric distributed random variables with parameters $p_{n,j} \in (0,1), j = 1, 2, \cdots, n; n =$ $1, 2, \cdots$ from row-wise triangular arrays or double arrays and for Poisson random variable Z_{λ_n} with mean $\lambda_n = E(S_n) = \sum_{j=1}^n p_{n,j}^{-1} (1 - p_{n,j})$. Actually, some upper bounds for $||A_{S_n}f - A_{Z_{\lambda_n}}f||$ are established for $f \in \mathbb{K}$. The analogous results related to random sums $S_{N_n} = X_1 + X_2 + \cdots + X_{N_n}$ and $Z_{\lambda_{N_n}}$ are also considered, where N_n is a positive integer-valued random variable independent from all X_1, X_2, \cdots and $\lambda_{N_n} = E(S_{N_n}) = \sum_{n=1}^{\infty} P(N_n = n)E(S_n) = \infty$ $\sum_{n=1}^{\infty} P(N_n = n) \sum_{j=1}^{n} p_{n,j}^{-1} (1 - p_{n,j}).$ The results considered in this section are

somewhat similar to the results in [16, 17, 18] and [19].

Hung and Giang

Theorem 3.1. Let $(X_{n,j}, j = 1, 2, \dots, n; n = 1, 2, \dots)$ be a row-wise triangular array of independent, non-identically geometric distributed random variables with probabilities $p_{n,j} \in (0,1)$. Set $S_n = \sum_{j=1}^n X_{n,j}$ and let us denote by Z_{λ_n} the Poisson random variable with mean $\lambda_n = E(S_n) = \sum_{j=1}^n (1 - p_{nj}) p_{n,j}^{-1}$. Then, for $f \in \mathbb{K}$

(3.1)
$$\| A_{S_n} f - A_{Z_{\lambda_n}} f \| \le 2 \| f \| \sum_{j=1}^n \left[(1 - p_{n,j})^2 + \frac{(1 - p_{n,j})}{p_{n,j}^2} \right]$$

Proof. We first observe that

$$\left\|A_{S_n}f - A_{Z_{\lambda_n}}f\right\| \le \sum_{j=1}^n \left\|A_{X_{n,j}}f - A_{Z_{(1-p_{n,j})p_{n,j}^{-1}}}f\right\|.$$

For $f \in \mathbb{K}$, and for $x \in \mathbb{Z}_+$,

$$\begin{aligned} A_{Z_{(1-p_{n,j})}p_{n,j}^{-1}}f(x) &- A_{X_{n,j}}f(x) \\ &= \sum_{k=0}^{\infty} f(x+k) \left[P\left(Z_{p_{n,j}} = k\right) - P\left(X_{n,j} = k\right) \right] \\ &= \sum_{k=0}^{\infty} f(x+k) \left[e^{-(1-p_{n,j})p_{n,j}^{-1}} \frac{\left[(1-p_{n,j}) p_{n,j}^{-1} \right]^k}{k!} - p_{n,j} (1-p_{n,j})^k \right]. \end{aligned}$$

Hence

$$\begin{split} \left| A_{Z_{(1-p_{n,j})p_{n,j}^{-1}}} f\left(x\right) - A_{X_{n,j}} f\left(x\right) \right| \\ &\leq \sum_{k=0}^{\infty} \left| f\left(x+k\right) \left(e^{-(1-p_{n,j})p_{n,j}^{-1}} \frac{\left[(1-p_{n,j})p_{n,j}^{-1}\right]^{k}}{k!} - (1-p_{n,j})^{k} p_{n,j} \right) \right| \\ &\leq \sup_{y \in Z_{+}} \left| f\left(y\right) \right| \sum_{k=0}^{\infty} \left| e^{-(1-p_{n,j})p_{n,j}^{-1}} \frac{\left[(1-p_{n,j})p_{n,j}^{-1}\right]^{k}}{k!} - (1-p_{n,j})^{k} p_{n,j} \right| \\ &= \left\| f \right\| \sum_{k=0}^{\infty} \left| e^{-(1-p_{n,j})p_{n,j}^{-1}} \frac{\left[(1-p_{n,j})p_{n,j}^{-1}\right]^{k}}{k!} - (1-p_{n,j})^{k} p_{n,j} \right| \\ &= \left\| f \right\| \left(\left| e^{-(1-p_{n,j})p_{n,j}^{-1}} - p_{n,j} \right| + \left| e^{-(1-p_{n,j})p_{n,j}^{-1}} \left(1-p_{n,j}\right) p_{n,j}^{-1} - (1-p_{n,j}) p_{n,j} \right| \\ &+ \sum_{k=2}^{\infty} \left| e^{-(1-p_{n,j})p_{n,j}^{-1}} \frac{\left[(1-p_{n,j})p_{n,j}^{-1}\right]^{k}}{k!} - (1-p_{n,j})^{k} p_{n,j} \right| \right) \\ &\leq \left\| f \right\| \left[\left(p_{n,j}^{-1} - p_{n,j} \right) + (1-p_{n,j}) p_{n,j}^{-1} \left(p_{n,j}^{-1} - p_{n,j}^{2} \right) \right] \\ &+ \sum_{k\geq 2} e^{-(1-p_{n,j})p_{n,j}^{-1}} \frac{\left[(1-p_{n,j})p_{n,j}^{-1}\right]^{k}}{k!} + \sum_{k\geq 2} \left(1-p_{n,j} \right)^{k} p_{n,j} \right] \end{split}$$

On the bounds in Poisson approximation

$$= \|f\| \left[\left(p_{n,j}^{-1} - p_{n,j} \right) + (1 - p_{n,j}) p_{n,j}^{-1} \left(p_{n,j}^{-1} - p_{n,j}^{2} \right) \right. \\ \left. + \left(1 - e^{-\left(1 - p_{n,j} \right) p_{n,j}^{-1}} - (1 - p_{n,j}) p_{n,j}^{-1} e^{-\left(1 - p_{n,j} \right) p_{n,j}^{-1}} \right) + (1 - p_{n,j})^{2} \right] \\ \le \|f\| \left[2p_{n,j}^{2} - 4p_{n,j} + p_{n,j}^{-2} + p_{n,j}^{-1} - (1 - p_{n,j}) p_{n,j}^{-1} + (1 - p_{n,j}) p_{n,j}^{-1} \left(1 - p_{n,j} \right) p_{n,j}^{-1} \right] \\ = 2 \|f\| \left[(1 - p_{n,j})^{2} + \frac{1 - p_{n,j}}{p_{n,j}^{2}} \right].$$

Therefore

$$\left\| A_{X_{n,j}} f - A_{Z_{(1-p_{n,j})p_{n,j}^{-1}}} f \right\|$$

= $\left\| A_{Z_{p_{n,j}}} f - A_{X_{nj}} f \right\| \le 2 \|f\| \left[(1-p_{n,j})^2 + \frac{(1-p_{n,j})}{p_{n,j}^2} \right]$

Thus

$$\|A_{S_n}f - A_{Z_{\lambda_n}}f\| \le 2\|f\| \sum_{j=1}^n \left[(1-p_{n,j})^2 + \frac{(1-p_{n,j})}{p_{n,j}^2} \right].$$

The proof is complete.

Corollary 3.2. Under the assumptions of Theorem 3.1, from (2.1) with $k \in \{0, 1, \dots, n\}$

$$|P(S_n = k) - P(Z_{\lambda_n} = k)| \le 2\sum_{j=1}^n \left[(1 - p_{n,j})^2 + \frac{(1 - p_{n,j})}{p_{n,j}^2} \right].$$

Theorem 3.3. Let $(X_{n,j}, j = 1, 2, \dots, n; n = 1, 2, \dots)$ be a row-wise triangular array of independent, geometric distributed random variables with parameters $p_{n,j} \in (0,1)$. Moreover, we suppose that $N_n, n = 1, 2, \dots$ are independent positive integer-valued random variables independent of all $X_{n,j}, n = 1, 2, \dots, n = 1, 2, \dots$; $n = 1, 2, \dots$. Set $S_{N_n} = \sum_{j=1}^{N_n} X_{N_n,j}$. Moreover, let us denote by $Z_{\lambda_{N_n}}$ the Poisson random variable with mean

$$\lambda_{N_n} = E(S_{N_n}) = \sum_{n=1}^{\infty} P(N_n = n) E(S_n) = \sum_{n=1}^{\infty} P(N_n = n) \sum_{j=1}^{n} p_{n,j}^{-1} \left(1 - p_{n,j}\right).$$

Then, for $f \in \mathbb{K}$

(3.2)
$$||A_{S_{N_n}}f - A_{Z_{\lambda_{N_n}}}f|| \le 2 ||f|| E\left(\sum_{j=1}^{N_n} \left[(1 - p_{N_n,j})^2 + \frac{(1 - p_{N_n,j})}{p_{N_n,j}^2} \right] \right).$$

1092

Proof. According to the Theorem 3.1, for $f \in \mathbb{K}$, and $x \in \mathbb{Z}_+$,

$$\begin{split} \| A_{S_{N_n}} f - A_{Z_{\lambda_{N_n}}} f \| &\leq \sum_{m=1}^{\infty} P\left(N_n = m\right) \left\| A_{S_m}\left(f\right) - A_{Z_{\lambda_m}}\left(f\right) \right\| \\ &\leq 2 \sum_{m=1}^{\infty} P\left(N_n = m\right) \left\| f \right\| \sum_{j=1}^{m} \left[\left(1 - p_{N_n,j}\right)^2 + \frac{\left(1 - p_{N_n,j}\right)}{p_{N_n,j}^2} \right] \\ &= 2 \left\| f \right\| \sum_{m=1}^{\infty} \left[P\left(N_n = m\right) \left(\sum_{j=1}^{m} \left[\left(1 - p_{N_n,j}\right)^2 + \frac{\left(1 - p_{N_n,j}\right)}{p_{N_n,j}^2} \right] \right) \right] \\ &= 2 \left\| f \right\| E \left(\sum_{j=1}^{N_n} \left[\left(1 - p_{N_n,j}\right)^2 + \frac{1 - p_{N_n,j}}{p_{N_n,j}^2} \right] \right) \end{split}$$

Thus, for $f \in \mathbb{K}$

$$\|A_{S_{N_n}}f - A_{X_{\lambda_{N_n}}}\| \le 2 \|f\| E\left(\sum_{j=1}^{N_n} \left[(1 - p_{N_n,j})^2 + \frac{(1 - p_{N_n,j})}{p_{N_n,j}^2} \right] \right).$$

This finishes the proof.

Corollary 3.4. On account of (3.2), for $k \in \{0, 1, \dots, n\}$,

$$\left| P\left(S_{N_n} = k\right) - P\left(Z_{\lambda_{N_n}} = k\right) \right| \le 2E\left(\sum_{j=1}^{N_n} \left[(1 - p_{n,j})^2 + \frac{(1 - p_{n,j})}{p_{n,j}^2} \right] \right).$$

Theorem 3.5. Let $(X_{i,j}, i = 1, 2, \dots; j = 1, 2, \dots)$ be a double array of independent geometric distributed random variables with probabilities

$$P(X_{i,j} = k) = p_{i,j}(1 - p_{i,j})^k, 0 < p_{i,j} < 1, k = 0, 1, 2, \dots; i, j = 1, 2, \dots$$

Assume that for every $i = 1, 2, \cdots$ the random variables $X_{i,1}, X_{i,2}, \ldots$, are independent, and for every $j = 1, 2, \cdots$ the random variables $X_{1,j}, X_{2,j}, \cdots$ are independent. Set $S_{n,m} = \sum_{i=1}^{n} \sum_{j=1}^{m} X_{i,j}$. Let us denote by $Z_{\lambda_{n,m}}$ the Poisson random variable with mean $\lambda_{n,m} = E(S_{n,m}) = \sum_{i=1}^{n} \sum_{j=1}^{m} (1 - p_{i,j}) p_{i,j}^{-1}$. Then, for $f \in \mathbb{K}$

(3.3)
$$||A_{S_{n,m}}f - A_{Z_{\lambda_{n,m}}}f|| \le 2 ||f|| \sum_{i=1}^{n} \sum_{j=1}^{m} \left[(1-p_{i,j})^2 + \frac{(1-p_{i,j})}{p_{i,j}^2} \right].$$

Proof. It is easy to check that

$$\|A_{S_{n,m}}f - A_{Z_{\lambda_{n,m}}}f\| \leq \sum_{i=1}^{n} \sum_{j=1}^{m} \|A_{X_{i,j}}f - A_{Z_{(1-p_{i,j})p_{i,j}^{-1}}}f\|.$$

1093

According to the Theorem 3.1, for $f \in \mathbb{K}$, and for all $x \in \mathbb{Z}_+$,

$$\|A_{X_{i,j}}f - A_{Z_{(1-p_{i,j})p_{i,j}^{-1}}}f\| \le 2\|f\| \left[(1-p_{i,j})^2 + \frac{(1-p_{i,j})}{p_{i,j}^2} \right]$$

Thus

$$\|A_{S_{n,m}}f - A_{Z_{\lambda_{n,m}}}f\| \le 2\|f\| \sum_{i=1}^{n} \sum_{j=1}^{m} \left[(1-p_{i,j})^2 + \frac{(1-p_{i,j})}{p_{i,j}^2} \right].$$

This finishes the proof.

Corollary 3.6. According to the Theorem 3.5, for $r \in \{0, 1, \ldots, n\}$,

$$\left| P\left(S_{n,m}=r\right) - P\left(Z_{\lambda_{n,m}}=r\right) \right| \le 2\sum_{i=1}^{n}\sum_{j=1}^{m} \left[\left(1-p_{i,j}\right)^{2} + \frac{\left(1-p_{i,j}\right)}{p_{i,j}^{2}} \right].$$

Theorem 3.7. Let $(X_{i,j}, i = 1, 2, \dots; j = 1, 2, \dots)$ be a double array of independent geometric distributed random variables with probabilities

$$P(X_{i,j} = k) = p_{i,j}(1 - p_{i,j})^k, 0 < p_{i,j} < 1, k = 0, 1, 2, \cdots; i, j = 1, 2, \cdots$$

Assume that for every $i = 1, 2, \cdots$ the random variables $X_{i,1}, X_{i,2}, \cdots$, are independent, and for every $j = 1, 2, \cdots$ the random variables $X_{1,j}, X_{2,j}, \cdots$ are independent. Set $S_{n,m} = \sum_{i=1}^{n} \sum_{j=1}^{m} X_{i,j}$. Moreover, suppose that N_n, M_m are non-negative integer-valued random variables independent of all $(X_{i,j}, i = 1, 2, \cdots; j = 1, 2, \cdots)$. Let us denote by $Z_{\lambda_{N_nM_m}}$ the Poisson random variable with mean

$$\lambda_{N_n,M_m} = E(S_{N_n,M_m}) = \sum_{n=1}^{\infty} \sum_{m=1}^{\infty} P(N_n = n) P(M_m = m) E(S_{n,m}).$$

Then, for $f \in \mathbb{K}$ (3.4)

$$\|A_{S_{N_n,M_m}}f - A_{Z_{\lambda_{N_n,M_m}}}f\| \le 2\|f\| E\left(\sum_{i=1}^{N_n}\sum_{j=1}^{M_m} \left[(1-p_{i,j})^2 + \frac{(1-p_{i,j})}{p_{i,j}^2} \right] \right).$$

Proof. On account of the definition of Renyi's operator in (1.1), we check at once that

$$(A_{S_{N_n,M_m}}f)(x) := E(f(S_{N_nM_m} + x))$$

= $\sum_{n=1}^{\infty} P(N_n = n) \sum_{m=1}^{\infty} P(M_n = m) (A_{S_{n,m}}f)(x)$

and

$$\left(A_{Z_{\lambda_{N_n,M_m}}}f\right)(x) := E\left(f\left(Z_{\lambda_{N_nM_m}}+x\right)\right)$$

= $\sum_{n=1}^{\infty} P\left(N_n=n\right) \sum_{m=1}^{\infty} P\left(M_n=m\right) \left(A_{Z_{\lambda_{nm}}}f\right)(x).$

Hence, for $f \in \mathbb{K}$, and for $x \in \mathbb{Z}_+$, we see at once that

$$\begin{split} \|P(S_{n,m} = r) - P(Z_{\lambda_{n,m}} = r)\| \\ &\leq \sum_{n=1}^{\infty} P(N_n = n) \sum_{m=1}^{\infty} P(M_n = m) \|A_{S_{nm}}f - A_{Z_{\lambda_{nm}}}f\| \\ &\leq 2 \|f\| \sum_{n=1}^{\infty} P(N_n = n) \sum_{m=1}^{\infty} P(M_n = m) \left(\sum_{i=1}^{n} \sum_{j=1}^{m} \left[(1 - p_{i,j})^2 + \frac{(1 - p_{i,j})}{p_{i,j}^2} \right] \right) \\ &= 2 \|f\| \sum_{n=1}^{\infty} P(N_n = n) E\left(\sum_{i=1}^{n} \sum_{j=1}^{M_m} \left[(1 - p_{i,j})^2 + \frac{1 - p_{i,j}}{p_{i,j}^2} \right] \right) \\ &= 2 \|f\| E\left(\sum_{i=1}^{N_n} \sum_{j=1}^{M_m} \left[(1 - p_{i,j})^2 + \frac{(1 - p_{i,j})}{p_{i,j}^2} \right] \right). \end{split}$$

Thus

$$\|A_{S_{N_n,M_m}}f - A_{Z_{\lambda_{N_nM_m}}}f\| \le 2\|f\| E\left(\sum_{i=1}^{N_n}\sum_{j=1}^{M_m} \left[(1-p_{i,j})^2 + \frac{(1-p_{i,j})}{p_{i,j}^2} \right] \right).$$

This completes the proof.

Corollary 3.8. According to the Theorem 3.5, for $r \in \{0, 1, \dots, n\}$,

$$\left| P\left(S_{N_n,M_m} = r\right) - P\left(Z_{\lambda_{N_nM_m}} = r\right) \right| \le 2E\left(\sum_{i=1}^{N_n} \sum_{j=1}^{M_m} \left[\left(1 - p_{i,j}\right)^2 + \frac{\left(1 - p_{i,j}\right)}{p_{i,j}^2} \right] \right).$$

We conclude this paper with the following comments. The results obtained in this note are illustrations for simplicity and elegant of the Renyi's operator method in Poisson approximation for independent geometric distributed random variables. Especially, this method is likely to be more effective for random vectors in higher dimension spaces.

Acknowledgements

This work is supported by the Vietnam's National Foundation For Science and Technology Development (NAFOSTED, Vietnam) under grant N. 101.01-2010.02

References

- A. D. Barbour, L. Holst and S. Janson, Poisson Approximation, Oxford Studies in Probability 2, Clarendon Press, Oxford, 1992.
- [2] L. H. Y. Chen, On the convergence of Poisson binomial to Poisson distribution, Ann. Probab. 2 (1974), no. 1, 178–180.
- [3] L. H. Y. Chen, Poisson approximation for dependent trials, Ann. Probab. 3 (1975), no. 3, 534–545.
- [4] L. H. Y. Chen and D. Leung, An Introduction to Stein's Method, Singapore University Press, Singapore, World Scientific Publishing Co. Pte. Ltd., Hackensack, 2005.

- [5] L. H. Y. Chen and A. Rollin, Approximating dependent rare events, *Bernoulli*, 19 (2013), no. 4, 1243–1267.
- [6] P. Deheuvels, A. Karr, D. Pfeifer and R. Serfling, Poisson approximations in selected metrics by coupling and semi-group methods with applications, J. Statist. Plann. Inference 20 (1988), no. 1, 1–22.
- [7] P. Deheuvels and D. Pfeifer, On a relationship between Uspensky's theorem and Poisson approximations, Ann. Inst. Statist. Math. 40 (1988), no. 4, 671–681.
- [8] T. L. Hung and V. T. Thao, Bounds for the Approximation of Poisson-binomial distribution by Poisson distribution, J. Inequal. Appl. 2013:30, (2013), 1–10.
- S. Kongudomthrap, Bounds in Poisson Approximation for Random Sums of Bernoulli Random Variables, *Journal of Mathematics Research*, 4 (2012), no. 3, 29–35.
- [10] L. Le Cam, An approximation theorem for the Poisson Binomial distribution, Pacific J. Math., 10 (1960) 1181–1197.
- [11] K. Neammanee, A Nonuniform bound for the approximation of Poisson binomial by Poisson distribution, Int. J. Math. Math. Sci. 48 (2003) 3041–3046.
- [12] E. Pekoz, Stein's method for geometric approximation, J. Appl. Probab. 33 (1996), no. 3, 707–713.
- [13] A. Renyi, Probability Theory, North-Holland Publishing Company, Amsterdam-Lodon, 1970.
- [14] R. J. Serfling, A general Poisson approximation theorem, Ann. Probab. 3 (1975), no. 4, 726–731.
- [15] J. M. Steele, Le Cam's Inequality and Poisson Approximations, Amer. Math. Monthly 101 (1994), no. 1, 48–50.
- [16] K. Teerapabolarn and P. Wongkasem, Poisson approximation for independent geometric random variables, Int. Math. Forum 2, (2007), no. 65-68, 3211–3218.
- [17] K. Teerapabolarn, A note on Poisson approximation for independent geometric random variables, Int. Math. Forum, 4 (2009), no. 9-12, 531–535.
- [18] K. Teerapabolarn, A pointwise approximation for independent geometric random variables, Int. J. Pure Appl. Math. 76 (2012) 727–732.
- [19] K. Teerapabolarn, A pointwise approximation for random sums of geometric random variables, Int. J. Pure Appl. Math. 89 (2013), no. 3, 353–356.
- [20] H. F. Trotter, An elementary proof of the central limit theorem, Arch. Math. 10 (1959) 226–234.

(T. L. Hung) University of Finance and Marketing, 2/4 Tran Xuan Soan, District 7, Ho Chi Minh City, Vietnam.

E-mail address: tlhung@ufm.edu.vn

(L. T. Giang) UNIVERSITY OF FINANCE AND MARKETING, 2/4 TRAN XUAN SOAN, DISTRICT 7, HO CHI MINH CITY, VIETNAM.

E-mail address: ltgiang@ufm.edu.vn